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4# A JDBC &£ ik Java & A#E 4 Tix ke iE & 4 %o
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5. # 4 Oracle ## & ¢ 3%

»l J.|<<|oraclexe » app » oracle » product » 11.2.0 » server » jdbc » lib

Wm|E) ZFENV) LIEM #EH)
BEFEFR v 3 v 7R FEEEE

2R EMER
2011/8/27 10:0

|| ojdbcb.jar 2011/8/27 10:0

|| ojdbcb_g.jar 2011/8/27 10:0

a1l N va =




6. JDBC ¥+ ¢yt athio b5 4

6.1. &: java.sql.* javax.sql.*

6.2. =N akho

6.3.1. Connection#io: i #Z480. A bk szgis.,

6.3.2. Statement #o: %4 HE Lo, § AT H o PreparedStatement & o,

Ham SQL & 49. R & #ir CRUD 44

6.3.3. ResultSet #to: 4ffHto. ARBKEHNGL R,

6.3. B %2 &% DriverManager £, Akt REKEL LB GRS

7. JDBC i /£ ¢g K A e

7.1, 7 # JDOBC 693 #- 5 BN IE & & & st 4o K, N3k 32 & ¢ JTOBC &

#

72. 4l hBBAZQGEH

7.3. it CRUD 44

7.4, 4oRAE At BERE

7.5 £ &k, HHIRE

st#h A AT EOKE

| package com.no4.test;




import java.sql.Connection;

import java.sql.DriverManager;

import java.sql.ResultSet;

import java.sql.Statement;

import java.util.Date;
public class Test {

//

//

//

//

//

}

public static void main(String[] args) throws Exception {

/] % 4 ik & 6 0 KA B
String username = "scott";
String password = "tiger";
String driver_class="oracle. jdbc.driver.OracleDriver";// 3 # % % #:
String url = "jdbc:oracle:thin:@localhost:1521:XE";// 4 # % i %
7.1, #o# JDBC 6 IR 30 - £ T N4 I8 & * & it e K H N3 4 ¢ TDBC B %
Class.forName(driver_class):
72 #lbsEAZQAGLE
Connection conn = DriverManager.getConnection(url, username , password);
System.out.printin(conn);
7.3. #47 CRUD 44
String sql = "select * from emp";
Statement stat = conn.createStatement():
7.4 4R R &MLl L
ResultSet rs = stat.executeQuery(sql):
/lrs R R st %, RERA Nt
while(rs.nextOX// T — it. 4 & @ true i 8 4 @ %o
int empno = rs.getInt(1);
String ename = rs.getString("ename");
Date date = rs.getDate("hiredate");
System.out.printin(empno+":"+ename+":"+date);
}
75 £#A %8, FHARER
rs.close():
stat.close():
conn.close():

*t $ 38 & Bt 17 5% Ml A Bk 4

package com.no4.test;

import java.sql.Connection;

import java.sql.DriverManager;

import java.sql.ResultSet;

import java.sql.Statement;

import java.util.Date;




public class UpdateTest {

//

//

//

l)ll;

//

public static void main(String[] args) throws Exception {

ET T E XL LEES L

String username = "scott";

String password = "tiger";

String driver_class="oracle. jdbc.driver.OracleDriver";// 38 % % % #;

String url = "jdbc:oracle:thin:@localhost:1521:XE".// & # % # $

7.1, #=# JDBC 6 s - £ I NKIEA * R st 4o KA NE B4« JOBC B#
Class.forName(driver_class):

72 #labH#BAEZAGEHR

Connection conn = DriverManager.getConnection(url, username , password):
System.out.printin(conn):

7.3. #47 CRUD 44

String sql = "insert into dept(deptno,dname,loc) values(50 , '#& 3" '3tk it o

Statement stat = conn.createStatement():
int count = stat.executeUpdate(sql).//+# & sk 48 A & N ik
if(count > 0) {
System.out.printin("#& % &% ! ");
}
75. £ 44, HHARFE
stat.close();
conn.close();

8. Statement # o

8.0. # 1% Statement =t &

Statement stat = conn.createStatement():

8.1. ek

ResultSet rs = stat.executeQuery(SQL):




8.2. HiTsEM sk Fik:

int i = stat.executeUpdate(SQL):

9. ResultSet # o .

HRAMETH— 5@ AF ik next():
9.1. ®m/k: BOF , EOF
9.1.1. BOF: #—it6if @. rs = & —F 4 4 & ¢4 42 L 3L & BOF.

9.1.2. EOF: #E5—11645&. rsstkeinext s ATH—47, #RBH25HKéE

7 EOF & @ false, & F & Aia®

9.2. AR &R TR
9.2.1. getXxxx(int): &£ ¥ Xxxx A F@HKE LY. int AT 6m%, A1 FH%
9.2.2. getXxxx(String): String & 7 &4 . HEEA

10. PreparedStatement # o : Statement F# o, H sz SQL

& 4o

10.1. 4|3t PreparedStatement # o ¢ % 41

String sql = "insert into dept(deptno,dname,loc) values(?,?,?)";//T x4 R? & 42 %
PreparedStatement pstat = conn.prepareStatement(sql);

A £dosql A~ ANEFE 0 sql 44



10.2. # & 4484

/1% & 45 1% Wtk

pstat.setInt(1, deptno):
pstat.setString(2, dname);
pstat.setString(3, loc);

10.3. #u471

pstat.executeUpdate():

package com.no4.test;

import java.sql.Connection;

import java.sql.DriverManager;

import java.sql.PreparedStatement;

import java.sql.ResultSet;

import java.sql.Statement;

import java.util.Date;

public class PreparedStatementTest {

45 4%

public static void main(String[] args) throws Exception {

/] & 5B Ak G 9 KB R

String username = "scott";

String password = '"tiger";

String driver_class = "oracle. jdbc.driver.OracleDriver";// 3 3 % & #
String url = "jdbc:oracle:thin:@localhost:1521:XE";// & # % #% %

/] 7.1, 4% JDOBC 4 B3t - ik AN iB 4 2 & 3h4o % Ntk i8 4 ¢4 TDBC 3 3
Class.forName(driver_class);

/172, ¢l H#ighsiedsh

Connection conn = DriverManager.getConnection(url, username, password):
System.out.printin(conn);

/7 7.3. #1437 CRUD 44

int deptno = 80:

String dname = "¢ 4 #";

String loc = "k %",

String sql = "insert into dept(deptno,dname,loc) values(?,?,?)".// T # A? &

PreparedStatement pstat = conn.prepareStatement(sql):
/1% & 4 1% stk
pstat.setInt(1, deptno);




pstat.setString(2, dname):

pstat.setString(3, loc);

/! $ui3

int i = pstat.executeUpdate():

if(i >0
System.out.printin("#& #& & ! ")

}

// 7.5, #A %%, HHEER

conn.close();

11. 4=t Connection i# i74& 2 6 3t %

HRARABBERYE, F—SHNREFLEBLLE,
FABEAE LA LARAKRBRG %K.

package com.no4.utils;

import java.sql.Connection;
import java.sql.DriverManager;
import java.sql.SQLException;

public class DBUtils {
private static Connection connection;

public static Connection getConnection() throws ClassNotFoundException,
SQLException {
if (DBUtils.connection == null || DBUtils.connection.isClosed()) {
/] %Ak K5
String username = "scott";
String password = "tiger";
String driver_class = "oracle.jdbc.driver.OracleDriver".// 33 % % #
String url = "jdbc:oracle:thin:@localhost:1521:XE";// & # % #% ¢
Class. forName(driver_class);
DBUtils.connection = DriverManager.getConnection(url, username,
password);

}

return DBUils. connection;

public static void closeConnection() {
try {




if (DBUtils.connection = null && \DBUtils. connection.isClosed()) {
DBUtils. connection.close():

}
} catch (SQLException e) {
e.printStackTrace():

12, 41t 4L kit i A

public class Dept {
private int deptno;
private String dname;
private String loc;

public Dept() {[]

public Dept(int deptno, String dname, String loc) {[]
public int getDeptno() {[]

public void setDeptno(int deptno) {[]

public String getDname() {[]

public void setDname(String dname) {[]

public String getloc() {[]

public void setlLoc(String loc) {[]

13. 45 CRUD # 4 ¢ # £

DAO: # % 4+ =t 448 & ¢ CRUD & # #
DeptDAO. java:



public class DeptDAO {
public void save(Dept dept){[]
public void update(Dept dept){[]
public void delete(int deptno){]
public Dept findById(int deptno){[]

public List<Dept> findAll(){[]

¥
public void save(Dept dept) throws ClassNotFoundException, SQLException {
// String sql = “insert into dept(deptno,dname, loc)
values(S_DEPT_ID.nextval,?,?)";

String sql = "insert into dept(deptno,dname,loc) values(?,?,?)":
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setInt(1, dept.getDeptno()).// 5 # & & 4k
pstat.setString(2, dept.getDname());
pstat.setString(3, dept.getloc()):
pstat.executeUpdate();

}

public Dept findById(int deptno) throws ClassNotFoundException,
SQLException {
String sql = "select * from dept where deptno = ?";
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setInt(1, deptno);
ResultSet rs = pstat.executeQuery():
if (rs.next()) {
Dept dept = new Dept():
dept.setDeptno(rs.getInt("deptno")):
dept.setDname(rs.getString("dname"));
dept.setLoc(rs.getString("loc")):
return dept;
} else {
return null;

}

public List<Dept> findAll() throws ClassNotFoundException, SQLException {
List<Dept> deptList = new ArrayList<Dept>():
String sql = "select * from dept";
Connection conn = DBUtils.getConnection():




PreparedStatement pstat = conn.prepareStatement(sql):

ResultSet rs = pstat.executeQuery();

while (rs.next()) {
Dept dept = new Dept():
dept.setDeptno(rs.getInt("deptno")):
dept.setDname(rs.getString("dname"));
dept.setLoc(rs.getString("loc")):
deptList.add(dept):

}

return deptList;

14, £ 804 Bk o kBE %7

BIZ: 442, 24§, #AHBALLE

DeptBIZ.java:

public boolean save(Dept dept){

DeptDAO deptDAO = new DeptDAO():

try {
deptDAO.save(dept);
return true;

} catch (ClassNotFoundException | SQLException e) {
e.printStackTrace():
return false;

} finally{
DBUtils.closeConnection();// # A i 4

}

public Dept findById(int deptno) {

DeptDAO deptDAO = new DeptDAO():

try {
return deptDAO.findById(deptno):

} catch (ClassNotFoundException | SQLException e) {
e.printStackTrace():
return null;

} finally {
DBUtils. closeConnection();

}

public List<Dept> findAlI()
DeptDAO deptDAO = new DeptDAO():




try {
return deptDAO.findAll();
} catch (ClassNotFoundException | SQLException e) {
e.printStackTrace():
return null;
} finally {
DBUtils. closeConnection();

® X £: SaveTest.java

public static void main(String[] args) {
// Auto-generated method stub
Scanner scanner = new Scanner(System.in);

System.out.printin("#~#i14% 5. ")
int deptno = scanner.nextInt();
scanner.nextline():
System.out.printin("# %1% #%: ")
String dname = scanner.nextLine();
System.out.printin("s# 3 i1k ");
String loc = scanner.nextLine();

Dept dept = new Dept(deptno,dname,loc):

DeptBIZ deptBIZ = new DeptBIZ():
if(deptBIZ.save(dept)X
System.out.printin("4& & &% ! ");
Jelse{
System.out.printin("4& 4 k! ");

}

@& %: FindByIdTest.java

public class FindByIdTest {

public static void main(String[] args) {
// Auto-generated method stub
Scanner scanner = new Scanner(System.in);

System.out.printin("# % 1% 5. ")
int deptno = scanner.nextInt():
scanner.nextLine();




DeptBIZ deptBIZ = new DeptBIZ():
Dept dept = deptBIZ.findById(deptno):

if(dept==null){
System.out.printin("3 i1, 5 A 444%, A XF L3144 "),
Jelse{
System.out.printin(dept.getDeptno()):
System.out.printin(dept.getDname()):
System.out.printin(dept.getlLoc()):

}

@ %: FindAllTest. java

package com.no4.test;
import java.util.List;
import com.no4.biz.DeptBIZ;
import com.no4.domain.Dept;
public class FindAllTest {
public static void main(String[] args) {
DeptBIZ deptBIZ = new DeptBIZ():
List<Dept> deptList = deptBIZ.findAll():
if(deptList == null
System.out.printin(" & £ 41 ).
Jelse if(deptList.isEmpty()X
System.out.printin(" &4 £ 4 %1 "):
Jelse{
for (Dept dept : deptList) {
System.out.print(dept.getDeptno()+"|"):
System.out.print(dept.getDname()+"|");
System.out.printin(dept.getloc()):
System.out.printin(---------- "):




15, A shék % & £ € 4% 4 -emp &

15.1. £#& %

public class _FEmp {
private|BigDecimal empno;
private|String ename;
private|String job;
private|BigDecimal mgr;
private| Timestamp hiredate;
private|BigDecimal sal;
private|BigDecimal comm;
private|Dept dept;

' public Emp() 14

// TODO Auto-generated constructoi

}

int 5 Integer 2@ X3 : Integer s int 3 —Avh : null

15.2. DAO #t %

15.2.1. findById = i :

public Emp findById(int empno) throws ClassNotFoundException, SQLException {

String sql = "select * from emp inner join dept on emp.deptno=dept.deptno where empno=?";

Connection conn = DBUtils.getConnection();
PreparedStatement pstat = conn.prepareStatement(sql);
pstat.setInt(1, empno);

ResultSet rs = pstat.executeQuery();

if (rs.next()) {

Emp emp = new Emp();
Iemp.setEmpno(rs.getBigDecimal("empno"));|

emp.setEname(rs.getString( ename™));
emp.setHiredate(rs.getTimestamp("hiredate"));
emp.setSal(rs.getBigDecimal("sal"));
emp.setComm(rs.getBigDecimal("comm™"));
emp.setJob(rs.getString("job"));
emp.setMgr(rs.getBigDecimal("mgr"));
Dept dept = new Dept();
dept.setDeptno(rs.getInt("deptno™));
dept.setDname(rs.getString("dname"));
dept.setlLoc(rs.getString("loc"));
emp.setDept(dept);
return emp;

} else {
return null;

¥




15.3. ®mK£:

public static void main(String[] args) {

// TODO Auto-generated method stub

EmpDAO empDAO = new EmpDAO();

try {
Emp emp = empDAO.findById(7839);
System.out.println(emp);
System.out.println("T&: "+emp.getEmpno());
System.out.println("#4&: "+emp.getEname());
System.out.println(emp.getComm());
System.out.println(emp.getJob ;
System.out.println("HEMSiHe : "+emp.Eoal());
System.out.printin(emp.getsall));
System.out.println(emp.getHiredate());
System.out.println(emp.getDept().getDeptno());
System.out.println(emp.getDept().getDname());
System.out.println(emp.getDept().getlLoc());

} catch (ClassNotFoundException | SQLException e) {
e.printStackTrace();

} finally {
DBUtils.closeConnection();

¥

15.4. 42t Oracle 2 4 £ M g2 25 &

1. # A4 #4k %% # A BigDecimal

2. varchar # A String

3. a#i4# A Timestamp




16. &z A4 48 0# K

16.1. ft2 & & & ib?

HA-NEABBLAEBGRT

RFKeIL, hiP, TRUBLEEESSR

TRELEBEGT AR N RELGEBTRA SN OB ELEGRERA
Y ESE LR ETESE: N

kR R —~Net. 107,

AABAORY INBELEZ AG AR SEFERRSE-~NKBLEGEHR, 54
A % af st H 3CX b & B o

1 21000 rsdg Akt A9 X: 1000 k. Kfhi: 10N (A—s@AXK S 2A

104A2).

R kBT A G B4 IR ARG R

16.2. # &% 2t % javax.sql.DataSource

AJavaBAFTREAKBROMEXAG LB LGH K.

DataSource st & ¥ 4| s 4o 4 4# — & # & 9 Connection =t % .



16.3. ¢ & L £ #A:DBCP , C3PO

16.4. 1M DBCP 4| s # i & L H st &

16.4.1. & Ba. 4 ¥ DBCP & J& %

4 (= DBCP_proj
8 src
- =) JRE System Library [JavaSE-1.8]

4 =) Referenced Libraries

- |lmg commons-beanutils-1.9.1,jar

- |lme commons-collections-3.2.1,jar

- |lad commons-dbcp-1.4.jar

| lms commons-dbutils-1.6.jar

- |lmg commons-pool-1.6.jar

|0 ojdbcb.jar

- = lib

16.4.2. & % DBCP it # i 5 #

4] & — AR ik X # .properteis.

driverClassName=oracle. jdbc.driver.OracleDriver
url=jdbc:oracle:thin:@localhost:1521:XE
username=scott

password=tiger

maxActive=50--% £ & & # &
maxIdle=20 --k A+ A KT

maxWait=60000 --%& X ¥ #ati], &4,

16.4.3. 4 #% DBUtils.java £ .

package com.no4.utils;

import java.sql.Connection;
import java.sql.SQLException;
import java.util.Properties:




import javax.sql.DataSource:;
import org.apache.commons.dbcp.BasicDataSourceFactory:

public class DBUtils {
private static Connection conn;
private static DataSource dataSource:
static {
Properties properties = new Properties():
try {
properties.load(DBUtils.class
.getResourceAsStream("jdbc.properties"));
DBUtils.dataSource = BasicDataSourceFactory
.createDataSource(properties);
} catch (Exception e) {
e.printStackTrace():

public static DataSource getDataSource() {
return dataSource:

public static Connection getConnection() throws SQLException {
if (conn == null || conn.isClosed()) {
conn = dataSource.getConnection();

}

return conn;

public static void closeConnection() {
try {
if (conn = null && lconn.isClosed()) {
conn.close():
}
} catch (SQLException e) {
e.printStackTrace():




17. 4 A DBUftils = & # 17 CRUD 4 4

%] commons-beanutils-1.9.1.jar 2014/
|| commons-collections-3.2.1.jar 2012/
|| commons-dbcp-1.4.jar 2012/

commons-dbcp-1.4-src.zip 2012/
Igi commons-dbutils-1.6jar 2014/
;—ﬁ Executable Jar File |

|| commons-pool-

__| DBUtils,java So/: 76.0 KB
7] jdbc.properties | {27 HER: 2014/7/16 21:23
% mysgl-connector-java-5.1.18-bin,ar 2011/

\#| ojdbc6.jar 2011/

package com.no4.dao;

import java.sql.SQLException;
import java.util.List;

import org.apache.commons.dbutils.QueryRunner;
import org.apache.commons.dbutils.handlers.BeanHandler:
import org.apache.commons.dbutils.handlers.BeanListHandler;

import com.no4.domain.Dept;
import com.no4.utils.DBUtils;

public class DeptDAO {
public List<Dept> findAll() throws SQLException {
String sql = "select * from dept";
QueryRunner queryRunner = new QueryRunner(DBUtils.getDataSource()):
return queryRunner.query(sql, new BeanListHandler<Dept>(Dept.class)):

public Dept findById(int deptno) throws SQLException{
String sql = "select * from dept where deptno = ? *;
QueryRunner queryRunner = new QueryRunner(DBUtils.getDataSource()):
return queryRunner.query(sql, new BeanHandler<Dept>(Dept.class), deptno):

}

public int save(Dept dept) throws SQLException{
String sql = "insert into dept(deptno,dname,loc) values(?,?,?)":
QueryRunner queryRunner = new QueryRunner(DBUtils.getDataSource()):
int i = queryRunner.update(sql,

dept.getDeptno(),dept.getDname(),dept.getloc()):




return i;

18. Java # 4 ¥4 A % %

18.1. ##E %k

tgm scott 3 NEWCARD
5| #dE | RE B | SHER (A AR

7@ e
{} COLUMN_NAME [
1 CARD _ID NI
> CARD_NAME V/
3 CARD_MONEY N

public class Card {
private BigDecimal cardId;
private String cardName;
private BigDecimal cardMoney;
> public Card() {[]
b public Card(BigDecimal cardId, Strin

18.2. JDBC # #-DAO

package com.no4.dao;
import java.sql.SQLException;

import org.apache.commons.dbutils.QueryRunner;
import org.apache.commons.dbutils.handlers.BeanHandler:;

import com.no4.domain.Card;
import com.no4.utils. DBUtils;

public class CardDAO {
public void update(Card card) throws Exception{
String sql = "update newcard set card_money = ? where card_id = ?";




QueryRunner queryRunner = new QueryRunner(DBUtils.getDataSource());
queryRunner.update(sql, card.getCardMoney() , card.getCardId()):

public Card findById(int cardId) throws SQLException{
String sql = "select * from newcard where card_id = ? ;
QueryRunner queryRunner = new QueryRunner(DBUtils.getDataSource());
return queryRunner.query(sql, new BeanHandler<Card>(Card.class), cardId):

18.3. x4 4£-BIZ

#5485 BIZ £.

1. # & % %:Connection.setAutoCommit(false);

2. #%x%$4%: Connection.commit();

3. @i $%: Connection.rollback();

/**
* BEF ik
*
* cardId
* + 5
* money
* 2%
* true #% /4 %%
*/

public boolean save(int cardId, double money) {

CardDAO cardDAO = new CardDAO():

try {
Card card = cardDAO.findById(cardId):
double temp = card.getCardMoney().doubleValue() + money:
card.setCardMoney(new BigDecimal(temp)):
/] 5372 —41¥%
DBUHtils. getConnection().setAutoCommit(false);// % % @ #4% % F 44 £/
cardDAO .update(card):
DBUtils.getConnection().commit();// % # 4% % % %-




}

System.out.printin("#& % &% ! ).
return true;
} catch (Exception e) {
e.printStackTrace():
try {
DBUtils.getConnection().rollback();// % # =it % %-
} catch (SQLException el) {
el.printStackTrace():
}
System.out.printin("#& 4 ka1 );
return false;
} finally {
DBUtils. closeConnection();

/x>
* RSk

*

*/

loadCardId
WG T
saveCardId
HEHGHRT
money
4%

public boolean saveload(int loadCardId, int saveCardId, double money) {

CardDAO cardDAO = new CardDAO():
try {
Card loadCard = cardDAO.findById(loadCardId):
Card saveCard = cardDAO.findById(saveCardId);
// A loadcard & &,
double loadtemp = loadCard.getCardMoney().doubleValue() - money:
loadCard.setCardMoney(new BigDecimal(loadtemp)):
// A savecard % 4,
double savetemp = saveCard.getCardMoney().doubleValue() + money:
saveCard.setCardMoney(new BigDecimal(savetemp)):

/%% % %
DBUtils.getConnection().setAutoCommit(false);
cardDAO .update(saveCard);
System.out.printin(“save ok!"):

cardDAO .update(loadCard);




System.out.printin("load ok!");
DBUtils.getConnection().commit();
return true;
} catch (Exception e) {
e.printStackTrace():
try {
DBUtils.getConnection().rollback():
} catch (SQLException el) {
el.printStackTrace():
}
return false;
} finally{
DBUtils. closeConnection();
}

19. ## MySQL # i 4

19.1. MySQL & & # %

# % & % : goodsdb

=) goodsid: int

goodsname: varch.. . :
goodsprice: float U tpeld 0t
goodsnum: int lypename: varchar.

goodstype it

19.2. 4%

public class Types {
private Integer typeid;
private String typename;




public class Goods {
private Integer goodsid;
private String goodsname;
private Float goodsprice;
private Integer goodsnum;
private Integer goodstype;// 77 {%QueryRunner

private Types types;// #r&ix%

public Goods() {
// TODO Auto-generated constructor stub

)

19.3. DAO £

public void save(Types types) throws SQLException{
String sql = "insert into types(typename) values(?)":
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setString(1, types.getTypename()):
pstat.executeUpdate();

194. BIZZ-b %A 22 A%, HBXHAR—H.

20. DBUtils 5 % 4

Connectionst %, &%, AAFSHURN, A-ANFH5PRERRA-SN B E.

PR A K 41 F 4 k98 A DBUTils 1. & £ ¢ getConnection = ik #p # 1§ — AN d7 69 & & =t
.
st 39 5 %: DBUtils £ ¥ 4| & — A static # connection. % getConnection 7 ik ¥ 4

RAEHBEEAHNAEG, HELEARRTAL, L RALRIEEQEEAER, R4
PR RUE Sl ¥

434 RKT, 4 A Static & Connection st &, 2R R LA —#. 5 NEMRAMHE

A — /A Connection st & .




BHEAT—~SBRALAMIT. %A Connection s %
BREL—~NEBEFPERA~NFS5BERAA~ NGRS G A ENFALESEPEAR
ERSEE: B0
20.1. ThreadlLocal %

‘*‘*&Jﬁlﬂxﬂ'%° 'ﬁ-/l\%ﬁﬁ'—‘/\° iill\xﬂ‘%%iﬁa) ?\ﬁg‘ﬁ‘&"‘/l\d"] -gﬁo
ThreadlLocal<Connection> threadlLocal = new ThreadLocal<Connection>():

4| & T — g # Connection # & & A s &4 2+ % o

20.2. ThreadLocal % # set 4o get = ik

20.3. #-#% /& ¢ DBUtils.java %

package com.no4.utils;

import java.sql.Connection;

import java.sql.SQLException;

import java.util.Properties:

import javax.sql.DataSource:;

import org.apache.commons.dbcp.BasicDataSourceFactory:

public class DBUtils {
private static DataSource dataSource;

private static ThreadLocal<Connection> threadLocal = new
ThreadLocal<Connection>();
static {
Properties properties = new Properties():
try {

properties.load(DBUtils.class
.getResourceAsStream("jdbc.properties")):
DBUtils.dataSource = BasicDataSourceFactory
.createDataSource(properties);
} catch (Exception e) {
e.printStackTrace():

public static DataSource getDataSource() {
return dataSource:




}
public static Connection getConnection() throws SQLException {
Connection conn = threadlLocal.get():
if (conn == null || conn.isClosed()) {
conn = dataSource.getConnection():
threadLocal.set(conn);

}
refturn conn;
}
public static void closeConnection() {

try {
Connection conn = threadlLocal.get():
if (conn = null && lconn.isClosed()) {
conn.close().// # @ & #, #HH:H%4HER
}
} catch (SQLException e) {
e.printStackTrace():
} finally{
threadLocal.set(null);
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21.1. bt T LA GHEA

21.1.1. ses#bst

21.1.2. VVID

package com.no4.utils;
import java.util.UUID;
public class UUIDUtils {
public static String getUUID(X

UVID uuid = UUID.randomUUID():
return uuid.toString().replace("-", "):

21.1.3. MD5

String pass = "123";

MD5Utils md5Utils = new MD5Utils();

String mdSpass = md5Utils.getMD5ofStr(pass);
System.out.printin(md5pass);




21.1.4. DBUtils

21.2. A#l 1.

I X EEES X

21.2.1. 444

Ras=
B ®):
2 ER 5 @: Q &
[ 5] PK 2R 27 Fuh Fx= I
Bl -m—--
» ik ADMINTTAME VARCHAR?
,,,,,, ;ﬁ ADNINPASS VARCHAR2 []
vvvvvv DIL
"/ |{: ADMIIITAME |{} ADNINPASS

admin

DCEDA5240B0101764ECDASF40FATFAOT




21.2.2. DOMAIN = 4k 3%,

public class Admins {
private BigDecimal adminid;
private String adminname;
private String adminpass;

public
public

public

public
public
public
public
public
public

Admins() {[J
Admins(BigDecimal adminid, String adminname, String ad

Admins(String adminname, String adminpass) {[]

BigDecimal getAdminid() {[J

void setAdminid(BigDecimal adminid) {[]
String getAdminname() {[|

void setAdminname(String adminname) {[]
String getAdminpass() {_]

void setAdminpass(String adminpass) {[J

21.2.3. DAO #8519 £

public Admins findByName(String adminName) throws Exception{
String sql = "select * from admins where adminname=?";
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setString(1, adminName);
ResultSet rs = pstat.executeQuery():
if(rs.nextOX
Admins admins = new Admins();
admins.setAdminid(rs.getBigDecimal("adminid"));
admins.setAdminname(rs.getString(*'adminname"));
admins.setAdminpass(rs.getString("adminpass")):
return admins;

Jelse{

return null;




21.2.4. BIZ 4% £

public class AdminsBIZ {
private AdminsDAO adminsDAO = new AdminsDAO();

/**
*EGEBRRRTk
* adminname # 2 i 8 #
* adminpass # %
* +iFl g Aag, K null k554K
*/
public Admins isLogin(String adminname,String adminpass){
try {

Admins admins = adminsDAO.findByName(adminname);
if(adminsl=null){
MD5Utils md5Utils = new MD5Utils();
String temppass = md5Utils.getMD5ofStr(adminpass);
if(admins.getAdminpass().equals(temppass)X
return admins;
Jelse{
return null;
}
Jelse{
return null;
}
} catch (Exception e) {
e.printStackTrace():
return null;
} finally{
DBUtils. closeConnection();

21.2.5. VIEW @ 2

public static void adminLoginView(){
System.out.printin("s# %= A 5. "),
String adminname = SCANNER.nextLine():
System.out.printin("sk %= & §5: "),
String adminpass = SCANNER.nextLine();
AdminsBIZ adminsBIZ = new AdminsBIZ():
Admins admins = adminsBIZ.isLogin(adminname, adminpass);
if(admins == null){




System.out.printin(" £ & & a1 ");

Jelse{
System.out.printin("# & A% ! # B & E2ZRG! ")
RunStatusUtils.loginAdmins = admins;

21.3. A4 2. RAEFR &

21.3.1. &% o4

1. 2448 aaRbHas X

2. FROLARREL

21.3.2. 4 #H

r

QAes=

B E):

_m S E): Q =0

[ PK TR Frigzeny 7ol
[ T T
" ;ﬁ;ﬁg TYPENAME VARCHAR2 20

AR % PR 4h




insert into types(typeid,typename) values(myseq.nextval,'# % * &');

commit;

insert into types(typeid,typename) values(myseq.nextval,' R A & &');

commit;

insert into types(typeid,typename) values(myseq.nextval,' B % B 46 "');

commit;

Res=
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Q ¥% —

—m §IJ E): Q B0

£ Frig e A

- . N sgem b

) %% _[coopsID mmsER o |

P GOODSHAME VARCHAR2 20

it
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insert into

goods(goodsid,goodsname, goodsprice,goodsnum,goodstype)

values(myseq.nextval,'SONY £ & % fa 4.',10000, 10,2);

commit;

21.3.3. DOMAIN s k%,

public
public
public
public
public
public

public class Types {
private BigDecimal typeld;
private String typeName;

Types() {L!

Types(BigDecimal typeld, String typeName) {[]
BigDecimal getTypeId() {[|

void setTypeId(BigDecimal typeId) {[|

String getTypeName() {]

void setTypeName(String typeName) {[]

public class Goods {
private BigDecimal goodsId;
private String goodsName;
private BigDecimal goodsPrice;
private BigDecimal goodsNum;
private Types goodsType;
public Goods() {

21.3.4. DAO # &5 £

1. TypesDAO.java: & 574 & & £ &

public List<Types> findAll() throws SQLException{
List<Types> typesList = new ArrayList<Types>():

String sql = "select * from types":
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
ResultSet rs = pstat.executeQuery():
while(rs.next()X

Types types = new Types():

types.setTypeld(rs.getBigDecimal("typeid")):
types.setTypeName(rs.getString('typename"));




typesList.add(types):

}
return typesList:

}

2. GoodsDAO.java: # % &8 %4

public Goods findByGoodsName(String goodsName) throws SQLException {
String sql = "select * from goods left join types "
+ " on goods.goodstype=types.typeid " + " where goodsname = ?";
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setString(1, goodsName);
ResultSet rs = pstat.executeQuery();
if (rs.next()) {
Goods goods = new Goods():
goods.setGoodsId(rs.getBigDecimal(*'goodsid"));
goods.setGoodsName(rs.getString(goodsname")):
goods.setGoodsPrice(rs.getBigDecimal("goodsprice")):
goods.setGoodsNum(rs.getBigDecimal(“goodsnum"));
Types types = new Types():
types.setTypeld(rs.getBigDecimal("typeid")):
types.setTypeName(rs.getString("typename"));
goods.setGoodsType(types):
return goods;
} else {
return null;

}

3. 6oodsDAO.java: #4AH &

public void save(Goods goods) throws SQLException {
String sql = "insert into "
+ " goods(goodsid,goodsname,goodsprice,goodsnum,goodstype) "
+ " values(myseq.nextval,?,?,?2,2)";
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setString(1, goods.getGoodsName()):
pstat.setBigDecimal(2, goods.getGoodsPrice()):
pstat.setBigDecimal(3, goods.getGoodsNum()):
pstat.setBigDecimal(4, goods.getGoodsType().getTypeId()):
pstat.executeUpdate();




21.3.5. BIZ 4% 2

1. TypesBIZ.java: ##@1 A& 4%

public List<Types> findAll()

try {
return typesDAO.findAll();

} catch (SQLException e) {
e.printStackTrace():
return null;

} finally{
DBUtils. closeConnection();

}

2. GoodsBIZ. java: #&HRLHRFAL

public Boolean existGoodsName(String goodsName) {
try {
6oods goods = goodsDAO.findByGoodsName(goodsName);
if (goods == null) {
return false;
} else {
return true;
}
} catch (SQLException e) {
e.printStackTrace():
return null;

}

3. GoodsBIZ. java: #4H &, F45 452

public Boolean save(Goods goods) {
try {

if (existGoodsName(goods.getGoodsName())) {
return false;

} else {
DBUtils.getConnection().setAutoCommit(false);
goodsDAO .save(goods);
DBUtils.getConnection().commit();
return true;

}

} catch (SQLException e) {
e.printStackTrace():




try {
DBUtils.getConnection().rollback():

} catch (SQLException el) {
// Auto-generated catch block
el.printStackTrace():

}

return null;

} finally {
DBUtils. closeConnection();

21.3.6. VIEW i@ &

1. 25 ARRAEGAZ R E

2. REGTZGAE

public static void saveGoodsView(){
System.out.printin("# & 2 #: ")
String goodsName = SCANNER.nextLine():
System.out.printin(" & & #-46. ).
BigDecimal goodsPrice = SCANNER.nextBigDecimal():
SCANNER.nextLine();
System.out.printin("& & & &: ").
BigDecimal goodsNum = SCANNER.nextBigDecimal();
SCANNER.nextLine();
System.out.printin("& & £ 4 ¢ %5 ")
TypesBIZ typesBIZ = new TypesBIZ():
List<Types> typesList = typesBIZ.findAll();
for (Types types : typesList) {

System.out.printin(types.getTypeId()+":"+types.getTypeName()):

}
BigDecimal typeld = SCANNER.nextBigDecimal():

SCANNER .nextLine();

Goods goods = new Goods():
goods.setGoodsName(goodsName):
goods.setGoodsPrice(goodsPrice);
goods.setGoodsNum(goodsNum);
Types types = new Types():
types.setTypeId(typeld):
goods.setGoodsType(types):




GoodsBIZ goodsBIZ = new GoodsBIZ():
if(goodsBIZ.save(goods)X
System.out.printin("4& & A& ).
Jelse{
System.out.printin(" & & k! ");

21.4. A#l 3. APEZw&

21.4.1. #4484

(2) #2447 jack2l  EH uskrs
5 | #dE SRR B | SHER [abs 22 [ NE 11820 [EmEs 4R %3] |saL
| AT R

" coLumn_name \{jt DATA_TYPE \{jc NULLABLE
1 USEREMAIL VARCHARZ2(100 BYTE) Yes
2 USERID NUMBER(4,0) No
3 USERNAME VARCHARZ(ZUBYIE) Yes
+ USERPASS VARCHAR2(32BYTE) Yes

21.4.2 DOMAIN

public class Users {
private BigDecimal userId;
private String userName:
private String userPass:
private String userEmail:

21.4.3. DAO

public Users findByName(String userName) throws Exception{
String sql = "select * from users where username=?";
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setString(1, userName);
ResultSet rs = pstat.executeQuery():




if(rs.nextOX
Users users = new Users();
users.setUserId(rs.getBigDecimal("userid")):
users.setUserName(rs.getString(“'username"));
users.setUserPass(rs.getString("userpass"));
users.setUserEmail(rs.getString("'useremail)):
return users;

Jelse{
return null;
}
}
21.4. 4. BIZ

public Users isLogin(String username, String userpass){
try {
Users users = usersDAO.findByName(username):
if(users==null){
return null;
}else{
MD5Utils md5Utils = new MD5Utils();
String temp = md5Utils.getMD5ofStr(userpass);
if(temp.equals(users.getUserPass())X
return users;
Jelse{
return null;

}
} catch (Exception e) {

e.printStackTrace():

return null;
} finally{
DBUHtils.closeConnection();
}
}
21.45. VIEW

public static void userLoginView(){
System.out.printin("#k#&~A 22 "),
String userName = SCANNER.nextLine():
System.out.printin("# # & . ")
String userPass = SCANNER.nextLine():




UsersBIZ usersBIZ = new UsersBIZ():
Users users = usersBIZ.isLogin(userName, userPass);
if(users==null){
System.out.printin(" &% k! ");
Jelse{
System.out.printin(" £ & &% ! ")
RunStatusUtils.setLoginUsers(users);

21 5. A#4: EFAAHESEL

21.5.1. GoodsDAO.java: 4 574 5 ik

public List<Goods> findAll() throws SQLException{
List<Goods> goodsList = new ArraylList<Goods>();
String sql = "select * from goods left join types "
+ " on goods.goodstype=types.typeid ";
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
ResultSet rs = pstat.executeQuery();
while (rs.next()) {
Goods goods = new Goods():
goods.setGoodsId(rs.getBigDecimal(*'goodsid"));
goods.setGoodsName(rs.getString(goodsname")):
goods.setGoodsPrice(rs.getBigDecimal("goodsprice")):
goods.setGoodsNum(rs.getBigDecimal(“goodsnum"));
Types types = new Types():
types.setTypeld(rs.getBigDecimal("typeid")):
types.setTypeName(rs.getString("typename"));
goods.setGoodsType(types):
goodsList.add(goods);

}

return goodsList;

21.5.2. GoodsBIZ.java: &% A % ik

public List<Goods> findAll() {

try {
return goodsDAO.findAll():




} catch (SQLException e) {
e.printStackTrace():

return null;
} finally {
DBUtils.closeConnection();
}
}
21.5.3. View

public static void shopView()}{
GoodsBIZ goodsBIZ = new GoodsBIZ():
List<Goods> goodsList = goodsBIZ.findAll():
if(goodsList !=null && lgoodsList.isEmpty()X
System.out.printin("#% 5\t & # \t\t #4-4\t & F\t £4");
for (6oods goods : goodsList) {
System.out.print(goods.getGoodsId()+"\t"):
System.out.print(goods.getGoodsName()+"\1"):
System.out.print(goods.getGoodsPrice()+"\1"):
System.out.print(goods.getGoodsNum()+"\1");
System.out.printin(goods.getGoodsType().get TypeName()):
}
Jelse{
System.out.printIn(" &4 s A7 7 & £ ! ");

21.6. A#l5: Mkt

B EBELRBLBAREAKRTUEXNT, F—R2REHHEA,

21.6.1. A#15.1: 42l Est%

1. 4l s 469 K £




* R REMEREMNEIAEL

public class ShopItem {
private Goods goods;//MEAfE S
private int num;//MZHHE
public ShopItem() {[|
public ShopItem(Goods goods, int num) {[]
public Goods getGoods() {[]
public void setGoods(Goods goods) {[]
public int getNum() {[]
public void setNum(int num) {[]

2. flamtkatg:
iR -NRE, BHRABHOAR, HEGAZRAMSTAF
Bt A -NEetE. £4 628 R ShopItem.

K 4640m 4%
1 List
List<ShopItem> shopcar = new Arraylist<>():

2 Map ##
Map<# & ¢ % %, ShopItem> shopcar = new HashMap«<>( );
% 4 % 5t F kA — A Map ¢ £ 4.

B4 ERENA~H 4 L. Threadlocal

public class RunStatusUtils {
public static Admins loginAdmins;// FIEFZHEIETNEERR
private static ThreadlLocal<Users> usersLocal = new ThreadlLocal<Users>();
private static ThreadlLocal<Map<BigDecimal, ShopItem>> shopCarlLocal = new ThreadlLocal<>();

public static Map<BigDecimal, ShopItem> getShopCar() {
Map<BigDecimal, ShopItem> shopcar = shopCarlLocal.get();
if (shopcar == null) {
shopcar = new HashMap<BigDecimal, ShopItem>();
shopCarlLocal .set(shopcar);

i

return shopcar;

b

package com.no4 . utils:

import java.math.BigDecimal;
import java.util.HashMap:




import java.util.Map:

import com.no4.domain. Admins;
import com.no4.domain.ShopItem;
import com.no4.domain.Users;

public class RunStatusUtils {
public static Admins loginAdmins:// &% i A& ¢ % %2 &
private static ThreadlLocal<Users> usersLocal = new ThreadLocal<Users>();

private static ThreadLocal<Map<BigDecimal, ShopItem>> shopCarLocal = new
ThreadLocal< >():

public static Map<BigDecimal, ShopItem> getShopCar() {
Map<BigDecimal, ShopItem> shopcar = shopCarlocal.get():
if (shopcar == null) {
shopcar = new HashMap<BigDecimal, ShopItem>():
shopCarlocal.set(shopcar):

}

return shopcar;

public static void setLoginUsers(Users users) {
usersLocal.set(users);

public static Users getLoginUsers() {
return usersLocal.get();

21.6.2. A#15.2: ¥ Bk

1. GoodsDAO . java: # 24+ K H &G ik

public Goods findByGoodsId(BigDecimal goodsId) throws SQLException {

String sql = "select * from goods left join types "
+ " on goods.goodstype=types.typeid " + " where goodsid = ?";

Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setBigDecimal(1, goodsId):
ResultSet rs = pstat.executeQuery();
if (rs.next()) {




Goods goods = new Goods():
goods.setGoodsId(rs.getBigDecimal("'goodsid"));
goods.setGoodsName(rs.getString(goodsname")):
goods.setGoodsPrice(rs.getBigDecimal("goodsprice")):
goods.setGoodsNum(rs.getBigDecimal(“goodsnum"));
Types types = new Types():
types.setTypeld(rs.getBigDecimal("typeid")):
types.setTypeName(rs.getString("typename"));
goods.setGoodsType(types):
return goods;

} else {
return null;

}

2. ShopCarBIZ.java: # 44 % € 4% %

package com.no4.biz;

import java.math.BigDecimal;

import java.sql.SQLException;
import java.util.Map:

import com.no4.dao.GoodsDAO;
import com.no4.domain.Goods;
import com.no4.domain.ShopItem;
import com.no4.utils. DBUtils;

import com.no4.utils.RunStatusUtils;

public class ShopCarBIZ {
private GoodsDAO goodsDAO = new GoodsDAO():
public boolean addGoods(BigDecimal goodsId,int num)
/1. #®H %
Map<BigDecimal, ShopItem> shopcar = RunStatusUtils.getShopCar():
/2. H&EZAGRARREC A E P
if(shopcar.containsKey(goodsId)X
/iR REGEHEL, hbktREF
ShopItem item = shopcar.get(goodsId);
int temp = item.getNum() + num;
item.setNum(temp):
return true;
Jelse{
ieRGRIAAL , KF— RSt %
try {
Goods goods = goodsDAO.findByGoodsId(goodsId);
ShopItem shopItem = new ShopItem(goods, num):




shopcar.put(goodsId, shopItem);
return true;

} catch (SQLException e) {
e.printStackTrace():
return false;

Jinally{
DBUtils. closeConnection();

public Map<BigDecimal, ShopItem> getShopCar(){
return RunStatusUtils.getShopCar():

21.6.3. A#53. vhi«AABE

AEHFRILHBHE, B2 R TR ETGRA

public static void shopView() {
GoodsBIZ goodsBIZ = new GoodsBIZ():
List<Goods> goodsList = goodsBIZ.findAll():
if (goodsList = null && !goodsList.isEmpty()) {
System.out.printin("# %\t & # \t\t #4-4\t & F\t £4");
for (6oods goods : goodsList) {
System.out.print(goods.getGoodsId() + "\1"):
System.out.print(goods.getGoodsName() + "\t");
System.out.print(goods.getGoodsPrice() + "\1");
System.out.print(goods.getGoodsNum() + “\t");
System.out.printin(goods.getGoodsType().getTypeName()):
}
} else {
System.out.printIn(" &4 s 47 & & £ ");
}
System.out.printin("#h t #4h Ew 2 H L ")
BigDecimal goodsId = SCANNER.nextBigDecimal():
SCANNER .nextLine():
System.out.printin("# # & & :");
int num = SCANNER .nextInt():
SCANNER .nextLine():

ShopCarBIZ shopCarBIZ = new ShopCarBIZ():




if (shopCarBIZ.addGoods(goodsId, num)) {
System.out.printin("# # &% ! ).
showShopCarView():

} else {
System.out.printin("s#% # & & £ #! ");

}

public static void showShopCarView() {

System.out.printin("2 =% 4 % ¥ 43 4. ")

double sum = O;

Map<BigDecimal, ShopItem> shopcar = RunStatusUtils.getShopCar():

Set<Entry<BigDecimal, ShopItem>> entrySet = shopcar.entrySet():

System.out.printin("# 5\t & # \t\t #-4\t £ 2\t & & & &\t J.4"):

for (Entry<BigDecimal, ShopItem> entry : entrySet) {
Goods goods = entry.getValue().getGoods():
System.out.print(goods.getGoodsId() + "\t");
System.out.print(goods.getGoodsName() + "\1");
System.out.print(goods.getGoodsPrice() + "\1"):
System.out.print(goods.getGoodsType().getTypeName() + "\1"):
System.out.print(entry.getValue().getNum() + "\1"):
System.out.printin((goods.getGoodsPrice().doubleValue() * entry

.getValue().getNum()) ):

sum += goods.getGoodsPrice().doubleValue() * entry.getValue().getNum();

}
System.out.printin(" & t: “+sum);

System.out.printin("1. % # 2");
System.out.printin("2. £ %"):

21.7. A#l 6. £ATEw

21.7.1. 444

1. ir# k&%




¥R ®): RDERTYPE

Qi’* S@: Q &

=5 T p— o
Beek 0 T T
_____ oy ORDERTYPENAME  VARCHAR?

iR

..... DDL

CREATE TABLE ORDERTYPE

(
ORDERTYPEID NUMBER(4, 0) NOT NULL

, ORDERTYPENAME VARCHAR2(20 BYTE)

, CONSTRAINT ORDERTYPE_PK PRIMARY KEY ( ORDERTYPEID )

)
INSERT INTO "JACK21"."ORDERTYPE" (ORDERTYPEID, ORDERTYPENAME)
VALUES ('1', 'iv$£ £« &')
INSERT INTO "JACK21" "ORDERTYPE" (ORDERTYPEID, ORDERTYPENAME)
VALUES ('2', 'irf e« ')
INSERT INTO "JACK21" "ORDERTYPE" (ORDERTYPEID, ORDERTYPENAME)
VALUES ('3', 't e£%")
2. it &
e [DEe
3 8% @®: Q &
- - PK =¥ Frigzen o = 2
BRead A .
o ffl ORDERUSER NUMBER :
e ORDERPRICE NNUMBER 7 []
- DDL ORDERNAME VARCHAR2 20 O
ORDERTEL VARCHAR2 11 O
ORDERADDRESS  VARCHAR2 200 O
ORDERTYPE NNUMBER 4 O




SRESF W: QA = $- X

2Rl E% i BA  EEERIAS
% g ORDERS_PK FAElGR )
&
“F shat ORDERS_FK2 FAIFER 3
@
S| ISR S EEOM:
BRE: Tk =T 31/
£©): [usERs [+] omoERusER USERID
$REM @ [USERS_PK |+
YERER®: Q £ v X
Escyil) 2R BR SRS
% £ ORDERS_PK FAElHR )
“F shat ORDERS_FKI1 TAlER @
3
S| RIS IR E EE @) M)
HEE®: \TACK21 || sy 3|3
EXOF ORDERTYPE |¥|  ORDERTTEE ORDERTYPEID
#J5RZf$ @ [ORDERTYPE_PK |+
SRS O [lRfE v

CREATE TABLE ORDERS

(
ORDERID VARCHAR2(32 BYTE) NOT NULL

, ORDERUSER NUMBER(4, 0)

, ORDERPRICE NUMBER(7, 2)

, ORDERNAME VARCHAR2(20 BYTE)

, ORDERTEL VARCHAR2(11 BYTE)

, ORDERADDRESS VARCHAR2(200 BYTE)

, ORDERTYPE NUMBER(4, 0)

, CONSTRAINT ORDERS_PK PRIMARY KEY

(
ORDERID




ALTER TABLE ORDERS
ADD CONSTRAINT ORDERS_FK1 FOREIGN KEY
(

ORDERUSER
)
REFERENCES USERS

(
USERID

ALTER TABLE ORDERS

ADD CONSTRAINT ORDERS_FK2 FOREIGN KEY

(
ORDERTYPE

)

REFERENCES ORDERTYPE

(
ORDERTYPEID

)

3. it 9

B E):

2 E 5 E: Q &

- PK B Hiims Fi)s Fzx

ERAR TN T S —

fg DETATILGOODS IMUMBER

o DELATIORDER VARCHAR2 32 []

L DIL DETATLPRICE NUMBER 7 ]
DETATLITUM NNUMBER 4 o




PRESF W: QA = $- X

%A 2 BR  AEBERE

% DETATLS_PK Rl )

@

R shat DETATLS_FK2 CIENS) 3

<

S| FARIEIREM EE D M

BRE: Tk =T 3|31

*6): |Goons [-] DETATLGO0DS GOODSID

LIRS @ (600DS_PK |+

WREH@: Q = +*v X
il E= BR  mELRIATS

% 2 DETATLS_PK NCIENS

CF shp2 DETAILS_FKI ZCIENSI
S| RIS IR R FEE (@D M

FRE®:  [Jack [~ s 2|31

*6): |0RDERS H DELATIORDER ORDERID

£TREM @ |ORDERS_PK N

CREATE TABLE DETAILS

(
DETAILID NUMBER(4, 0) NOT NULL

, DETAILGOODS NUMBER(4, 0)

, DELAILORDER VARCHAR2(32 BYTE)

, DETAILPRICE NUMBER(7, 2)

, DETAILNUM NUMBER(4, 0)

, CONSTRAINT DETAILS_PK PRIMARY KEY

(
DETAILID

ALTER TABLE DETAILS




ADD CONSTRAINT DETAILS_FK1 FOREIGN KEY

(
DETAIL60OODS

)
REFERENCES 600DS

(
GOODSID

ALTER TABLE DETAILS
ADD CONSTRAINT DETAILS_FK2 FOREIGN KEY

(
DELAILORDER

)
REFERENCES ORDERS

(
ORDERID

21.7.2. 4 i1 4 6 kB o4

4 AT £ Ak B0t 7t B dE A AR S AT SRR
1. 4t =f+7 € &4 insert into

2. 4217 ¥ 81 4 A4 insert into

3. 42 #& & k# update, X A%
ERAFNSRKBREZNEER—~RR K. F5o

21.7.3. it¥ itk 5 DAO £

1. it #%# @ DAO: AT ¢

public class OrderType {
private BigDecimal orderTypeld;
private String orderTypeName;

}

public class Orders {
private String orderId;
private String orderName;
private BigDecimal orderPrice;




private String orderTel;
private String orderAddress;
private OrderType orderType:
private Users orderUser;

}

public class OrdersDAO {
public void save(Orders orders) throws SQLException {
String sql = "insert into "
+

"“orders(orderId,orderUser,orderPrice,ordername,ordertel, orderaddress,ordertype)"
+" values(?,?,?2,2,2,2,2)";

Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setString(1, orders.getOrderId());
pstat.setBigDecimal(2, orders.getOrderUser().getUserId()):
pstat.setBigDecimal(3, orders.getOrderPrice()):
pstat.setString(4, orders.getOrderName()):
pstat.setString(5, orders.getOrderTel());
pstat.setString(6, orders.getOrderAddress()):
pstat.setBigDecimal(7, orders.getOrderType().getOrderTypeld()):

pstat.executeUpdate();

2. ir¥ Htak g DAO: &AM

public class Details {
private Orders detailOrder;
private Goods detailGoods;
private BigDecimal detailId:
private BigDecimal detailNum:
private BigDecimal detailPrice:

}

public class DetailsDAO {
public void save(Details details) throws SQLException {
String sql = “insert into
details(detailId,detailgoods,detailorder,detailNum,detailprice) "
+ " values(myseq.nextval,?,?,?2,2)";
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setBigDecimal(1, details.getDetailGoods().getGoodsId()):
pstat.setString(2, details.getDetailOrder().getOrderId()):
pstat.setBigDecimal(3, details.getDetailNum()):
pstat.setBigDecimal(4, details.getDetailPrice()):




pstat.executeUpdate();

}

3. @& ## @ DAO-6oodsDAO.java: # % & %

public void update(BigDecimal goodsId,int num) throws SQLException{
String sql = "update goods set goodsnum = goodsnum-? where goodsid = ? “;
Connection conn = DBUtils.getConnection():
PreparedStatement pstat = conn.prepareStatement(sql):
pstat.setInt(1, num);
pstat.setBigDecimal(2, goodsId):
pstat.executeUpdate();

21.7.4. itf g4 Fikeith 5 BIZ 2

package com.no4.biz;

import java.math.BigDecimal;
import java.sql.SQLException;
import java.util.Map:

import java.util.Map.Entry;
import java.util.Set;

import com.no4.dao.DetailsDAO;
import com.no4.dao.GoodsDAO;
import com.no4.dao.OrdersDAO;
import com.no4.domain.Details;
import com.no4.domain.Orders;
import com.no4.domain.ShopItem;
import com.no4.utils.DBUtils;
import com.no4.utils.RunStatusUtils;

public class OrdersBIZ {
private OrdersDAO ordersDAO = new OrdersDAO():
private DetailsDAO detailsDAO = new DetailsDAO():
private GoodsDAO goodsDAO = new GoodsDAO():

public boolean save(Orders orders) {
try {
DBUtils.getConnection().setAutoCommit(false);
/] &A%
ordersDAO . .save(orders);
/] %% %




Map<BigDecimal, ShopItem> shopcar = RunStatusUtils.getShopCar():

Set<Entry<BigDecimal, ShopItem>> entrySet = shopcar.entrySet():

for (Entry<BigDecimal, ShopItem> entry : entrySet) {
Details details = new Details();// # %
details.setDetailGoods(entry.getValue().getGoods()):
details.setDetailOrder(orders);
details.setDetailPrice(entry.getValue().getGoods()

.getGoodsPrice()):
details.setDetailNum(new BigDecimal(entry.getValue().getNum())):
detailsDAO.save(details);// &4 9 ¢a
goodsDAO .update(entry.getValue().getGoods().getGoodsId(), entry
.getValue().getNum()).// % o 4 4 # &

}

DBUtils.getConnection().commit();

return true;

} catch (SQLException e) {

e.printStackTrace():

try {
DBUtils.getConnection().rollback():

} catch (SQLException el) {
el.printStackTrace():

}

return false;

} finally {
DBUtils.closeConnection();

21.7.5. irf 25 ¢ am VIEW

System.out.printin("1. 4 4% =");
System.out.printin("2. # %"):
int choose = SCANNER.nextInt(); SCANNER.nextLine():
switch(choose){
case 1:
shopView():
break;
case 2:
Orders orders = new Orders();
orders.setOrderId(UUIDUtils.getUUID());
System.out.printin("# #~ s 4 A4 5 ");




orders.setOrderName(SCANNER.nextLine());
System.out.printin("# &~k AH £ 5 X ")
orders.setOrderTel(SCANNER.nextLine()):
System.out.printin("# # sk 4 A st sk ");
orders.setOrderAddress(SCANNER.nextLine());
orders.setOrderPrice(new BigDecimal(sum)):
OrderType orderType = new OrderType():
orderType.setOrderTypeId(new BigDecimal(1)):
orders.setOrderType(orderType):
orders.setOrderUser(RunStatusUtils.getLoginUsers()):

OrdersBIZ ordersBIZ = new OrdersBIZ().
if(ordersBIZ.save(orders)X
System.out.printin("4& & &% ");
System.out.printin(" £ Fir £ A A4 4! ")
}else{
System.out.printin("4& % & #! ");
}

break;

22. A A Oracle # 3z & # $h ™A $ 69 /5 4k 242

22.1. AAGMLEGFIBAATNE.

String sql = "{call A4t 8 (AHslk) ).

22.2. A A 4G4k i248 g2t % 4% A CallableStatement

CallableStatement cstat = conn.prepareCall(sql):

create or replace procedure proc_save_dept

(
deptno in number

, dname in varchar2

, loc in varchar2

) as

begin
insert into dept(deptno,dname,loc) values(deptno,dname,loc):
commit;




end proc_save_dept:

public void save(Dept dept) throws SQLException{
String sql = "{call proc_save_dept(?,?,?)}"://8 A % #k it 42
Connection conn = DBUtils.getConnection():
CallableStatement cstat = conn.prepareCall(sql):
cstat.setBigDecimal(1, dept.getDeptno());
cstat.setString(2, dept.getDname()):
cstat.setString(3, dept.getloc()):
cstat.executeUpdate();

Dept dept = new Dept(new BigDecimal(4), "# #3i1", "& 4");
DeptDAO deptDAO = new DeptDAO():
try {
DBUtils.getConnection().setAutoCommit(false);
deptDAO.save(dept):
DBUtils.getConnection().commit();
System.out.printin(" ! "):
} catch (SQLException e) {
e.printStackTrace():
try {
DBUtils.getConnection().rollback():
} catch (SQLException el) {
el.printStackTrace():
}
System.out.printin(" & ! "):
} finally{
DBUtils.closeConnection();

23. 8 A Oracle # & & # # & A ¥ ¢) 5 4k i1 42

create or replace procedure proc_getEnameByNo
(
eno in number
, ename out varchar?2
, sal out number
, comm out number
) as
begin
select ename,sal,comm into ename,sal,comm from emp where emp.empno=eno;
end proc_getEnameByNo:

public String findNameByNo(BigDecimal empno) throws SQLException{




String sql ="{call proc_getEnameByNo(?,?,?,?)}";
Connection conn = DBUtils.getConnection():
CallableStatement cstat = conn.prepareCall(sql):
cstat.setBigDecimal(1, empno);

/43t out £ G A K, hE—F LiiAk
cstat.registerOutParameter(2, Types.VARCHAR);
cstat.registerOutParameter(3, OracleTypes.NUMBER):
cstat.registerOutParameter(4, OracleTypes.NUMBER):
cstat.executeUpdate();

String ename = cstat.getString(2);

return ename;

DeptDAO deptDAO = new DeptDAO():
try {
String ename = deptDAO.findNameByNo(new BigDecimal(7839)):
System.out.printin(ename);
} catch (SQLException e) {
e.printStackTrace():
} finally{
DBUHtils.closeConnection();

24. 8 A Oracle # & & % i & A 69 5 o 1248

create or replace procedure p5
(
sal in out number
) as
begin
sal := sal * 2;
end p5;

String sql ="{call p5(?)}":

Connection conn = DBUtils.getConnection():
CallableStatement cstat = conn.prepareCall(sql):
cstat.setBigDecimal(1, new BigDecimal(100));
cstat.registerOutParameter(l, OracleTypes.NUMBER):
cstat.executeUpdate();

BigDecimal sal = cstat.getBigDecimal(1):
System.out.printin(sal);

DBUtils.closeConnection();

System.out.printin(“end"):




25. 8 A Oracle # 2 & ¢4 4 # & &

create or replace function f1
(
deptid in number
) return varchar2 as
dname varchar2(14) ;
begin
select dname into dname from dept where deptno = deptid:
return dname:
end f1;

String sql = "{? = call f1(?)}";
Connection conn = DBUtils.getConnection():

CallableStatement cstat = conn.prepareCall(sql):
cstat.registerOutParameter(l, Types.VARCHAR);
cstat.setBigDecimal(2, new BigDecimal(66));
cstat.executeUpdate();

String dname = cstat.getString(1):
System.out.printin(dname):
DBUtils.closeConnection();

26. AA Oracle #k#2 A ¢4, B $ 1724 %, KAz

L 3

create or replace package packl as

type myrefcursortype is ref cursor;--# & i 4z £ &

procedure pack_proc(minsal in number,myref out myrefcursortype):
end packl:

create or replace package body packl as
procedure pack_proc(minsal in number,myref out myrefcursortype) as
begin
open myref for 'select * from emp where sal >'|| to_char(minsal);
end pack_proc;
end packl:

String sql = "{call packl.pack_proc(?,?)}":

Connection conn = DBUtils.getConnection():
CallableStatement cstat = conn.prepareCall(sql):
cstat.setFloat(1, 10000.0f);
cstat.registerOutParameter(2, OracleTypes.CURSOR);
cstat.executeUpdate();




ResultSet rs = (ResultSet) cstat.getObject(2):
while (rs.next()) {
System.out.printin(rs.getString(“ename"));

}

DBUtils.closeConnection();










